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INSTRUCTIONS

All questions are of objective type having four answer options for each.

Category-1: Carry 1 mark each and only one option is correct. In case of incorrect answer or
any combination of more than one answer, % mark will be deducted.

Category-2: Carry 2 marks each and one or more option(s) is/are correct. If all correct
answers are not marked and no incorrect answer is marked, then score = 2 X number of
correct answers marked + actual number of correct answers. If any wrong option is marked or
if any combination including a wrong option is marked, the answer will be considered wrong,
but there is no negative marking for the same and zero mark will be awarded.

Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B, C, or D.

Use only Black/Blue ball point pen to mark the answer by filling up of the respective
bubbles completely.

Write question booklet number and your roll number carefully in the specified locations of
the OMR Sheet Also fill appropriate bubbles.

Write your name (in block letter), name of the examination center and put your signature (as
is appeared in Admit Card) in appropriate boxes in the OMR Sheet.

The OMR Sheet is liable to become invalid if there is any mistake in filling the correct
bubbles for question booklet number/roll number or if there is any discrepancy in the name/
signature of the candidate, name of the examination center. The OMR Sheet may also
become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be the sole responsibility of candidate.

Candidates are not allowed to carry any written or printed material, calculator, pen, log-table,
wristwatch, any communication device like mobile phones, bluetooth etc. inside the
examination hall. Any candidate found with such prohibited items will be reported against
and his/her candidature will be summarily cancelled.

Rough work must be done on the question booklet itself. Additional blank pages are given in
the question booklet for rough work.

Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

This booklet contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and will
be treated as final.

Candidates are allowed to take the Question Booklet after the Examination is over.

Signature of the Candidate :

Signature of the Invigilator :

(as in Admit Card)
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PHYSICAL SCIENCE
Category-1 (Q. 1 to 25)

(Carry 1 mark each. Only one option is correct. Negative marks: — %4)

Which of the following atom has no isotope ?

MER TP TN TR SBT3 2

(A) F (B) Cl (C) Br (D) 1

How many moles of carbon makes 3.6 g of carbon ?

3.6 2N SR F© T PN ANGT AL 2

(A) 0.3 mole (B) 0.03 mole (C) 0.003 mole (D) 3 mole
pH of acid is

(A) equalto7 (B) greater than 0 and less than 7
(C) greater than 7 and less than 14 (D) equalto 14

STSE pH 24

(A) 7 @A (B) 0 @9 &3 @2 7 @1 W

(C) 7 9F @ @2 14 93 39 (D) 14 93 AN

Ring test ascertains

(A) H2SO04 (B) HNO; (C) HCI (D) CH3COOH

In which of the following condition the work done by a force is zero ?

(A) The force acts on a body at an angle 180° to the direction of its displacement.
(B) The force acts on a body at an angle 120° to the direction of its displacement.
(C) The force acts on a body at an angle 90° to the direction of its displacement.
(D) The force acts on a body at an angle 0° to the direction of its displacement.
R T THE (I I T FOIER AR ¥jefy =23 2

(A) I 339 o7 SFOICIF A 180° (I ferat w3 |

(B) 3 I sifeq SfSILL7 A 120° (I {2 <530 |

(C) I A I3 SO A 90° TR fema F1e |

(D) 3 I o7 SRR A 0° (e {2 30 |

The volume of a certain amount of ideal gas at 30°C and 200 cm of Hg pressure is 90 ml.
The gas is expanded to 300 ml keeping the temperature constant, then the pressure of the
expanded gas is

30°C TSI @32 200 T WSS 5T, (W e wAfirsier st s Sres 90 mil |
GFZ TS Fe 300 ml F4 (A 82 TS AR 519 TS -
(A) 40 cm Hg (B) 50cmHg (C) 60cmHg (D) 80 cmHg
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7.  The volume of 64 g O at STP is
(A) 1121t (B) 22.4lit (C) 44.8lit (D) 33.6lit
STP TS 64 &I¥ O, G99 WS
(A) 11.2B= (B) 22.4 0= (C) 44.8 R (D) 33.6feB=

8.  Which of the following has the highest thermal conductivity ?

(A) Silver (B) Copper (C) Aluminium (D) Water
AR AR o sfafzer & ¢
(A) =l (B) o (C) eI (D) &«

9.  The co-efficient of volume expansion of any ideal gas is

T S ST e 21K A v

1 1
A) 273/°C B) —/°C C) 373/°C D) —/°C
(A) B) — © (D) 33

10. When the object lies at infinite distance in front of concave mirror then the nature of the

image is

(A) real and erect (B) real and inverted

(C) virtual and erect (D) virtual and inverted

L T, (I S0 AR AN SN AL SR (A O AfSRega 3o =7
(A) VM G TN (B) W @I SR

(C) P I A (D) SPW 32 SN

11.  Which part of human eye plays the role of light-proof chamber ?

(A) eyeball (B) eye-lens (C) retina (D) sclera
TR 55 (I B A SCSwy ?
(A) SIS (B) Sf%(er (C) T (D) &R

12. Resistances of two coils of wire are 9 QO and 18 Q. If these coils be connected in parallel
combination, then what will be the equivalent resistance ?

7S TR FTAIT@L9 Q0 8 18 O | YW AR TR & FA(E AR 9o (FIK F© (A ?
(A) 6Q (B) 18Q (C) 27Q (D) 30
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13. During the emission of y-ray

(A) mass number increases (B) mass number decreases

(C) mass number does not change (D) neutron number decreases

y A0 FsTe w

(A) TN AT (B) ©F AN I

(C) ©FRAR R AR<eq 2 1 (D) fYEGH 47 SN AN
14. The correct order of electronegativity is

o SfER YNgFe TG T

(A) CI>Br>F>1 (B) I<CI<Br<F (C) F>CI<Br>I (D) F>CI>Br>1I
15.  Which of the following is a covalent compound with triple bond ?

R TG fawe Jo TG el 2

(A) H20O (B) CO: (C) CH: (D) CH4
16. In electroplating of silver, the electrolyte is

EMEACICN G GRS SN N LR PR S ISISEICIER

(A) K[Ag(CN),] (B) K[Au(CN),]  (C) Ca[Ag(CN),] (D) Ca[Au(CN),]
17. The dehydrating agent for ammonia used in laboratory is

SO AF ST FACS 920 23 -

(A) CaO (B) P20s (C) CaClx (D) NaHS
18. Which is used as a cryogenic agent ?

(A) liquid O2 (B) liquid CO> (C) liquid N> (D) liquid H»

(I R w0t 7= 77 2

(A) OO0, (B) ©I=E1CO2 (C) SN2 (D) O H»
19. German Silver contains

QA ol A

(A) Cu,Zn (B) Cu, Ni (C) Cu, Ag, Ni (D) Cu, Zn, Ni
20. Denatured spirit contains

(A) 10% methyl alcohol and 90% ethyl alcohol.

(B) 30% methyl alcohol and 70% ethyl alcohol.

(C) 90% methyl alcohol and 10% ethyl alcohol.

(D) 30% ethyl alcohol and 70% methyl alcohol.

fEbre fifs e

(A)  10% TN AR 8 90% AR WA IRA

(B)  30% T2 SHAHIRS 8 70% AR AR IRA

(C)  90% TN ARS8 10% ARH WA IRA

(D) 30% 2AZHA TARIRA 8 70% NAZH A=A
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2 u mass is equivalent to

2 u OFE AN 2
(A) 0332x1024g (B) 332x102%g
(C) 0.332x10 kg (D) 3.32x1024kg

An object is sliding down an inclined plane. The velocity changes at a constant rate from
10 cm/s to 15 cm/s in two seconds. What is its acceleration ?

qFH STe OE GIh I PRE 28R | 2 TIRE ANRIE @R ARk@ed g7 10 cm/s
T 15 cm/s | O IFLF GG I 2
(A) 5m/s? (B) 7.5 m/s? (C) 2.5m/s? (D) 12.5m/s?

The length of an object was measured to be 60 cm by a linear scale having least count
1 mm. What is the possible percentage error in the measurement ?

1 mm =98 g7F RRFE @3 e T MR @6 T G AT I 2187 Tl 60
LI | 0 ARSI T8y *rosd it 3o ?
(A) 0.1667% (B) 1.667% (C) 16.67% (D) 0.33%

Newton’s first law of motion leads us to -
(A) inertia of matter and unit of force (B) definition of force and unit of force

(C) inertia of matter and definition of force (D) the concept of action and reaction

fRSETTR 2w o3 TAE == FIER gl 212 2
(A) I TICT @3¢ AER GFF | (B) (a4 Gl G R 9F7 |
(C) I |ITT G (F AL | (D) & «=e effoferam q=er|

Due to which property of water raindrops are spherical in shape ?

(A) Viscosity (B) Density
(C) Surface tension (D) Relative density
T (1 4CNR ey I 161 TR 73 2

(A) gl (B) ¥ (C) BB (D) SIS Ty
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PHYSICAL SCIENCE
Category-2 (Q. 26 to 30)

(Carry 2 marks each. One or more options are correct. No negative marks)

26. Which of the following statement/s is/are correct at NTP ?
(A) 1 gm of any gas occupies 22.4 lit.
(B) The no. of ions present in 1 gm-ion of a substance is 6.023x10%,
(C) The no. of atoms present in 1 gm-atom of a substance is 6.023 X107,
(D) 22.41it of any gaseous substance contains 6.023 % 10?3 molecules.
NTP-TS FpR T S (wfer) o 2
(A) 131N T TIH ER SEe 22.4 #6R |
(B) @3> *MITLR 1 & SR, SR 7247 6.023x10% |
(C) 1 7Fwe »If el (7 (&4 #Id, 7= WM 6.023x 103 |

(D) 22.4 feTo ISR (@ @ A7 “mitd <9 314 6.023 %102

27.  Which of the following is/are correct for any gas ?
(A) Vapour density = 2 X molecular weight
(B) Molecular weight =2 x vapour density
(C) At STP, the normal density = 0.089 x vapour density
(D) At STP, vapour density = 0.089 x normal density
T TR T NS A/ wmefe 7o 2
(A) ¥ T =2 x AAF ¢ |
(B) W& g =2 x I 999
(C) STP TS, NN Tg = 0.089 x ™ g

(D) STP TS, I 9g = (0.089 x W ITQ
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Which of the following statement(s) is/are correct when «, B, y are the coefficients of linear

expansion, surface expansion and volume expansion respectively of a solid ?

(A) 6a.=33=2y

(B) 6a=2p=3y

(©) 3a=2p=6y

(D) a, B,y does not depends on the length, surface area and volume of the object.
R @R/ el #T @AE o, B, y T IS, F “Mida (AT IR o7,
TR @F T R RO JAT @9F ?

(A) 6a.=3p=2y

(B) 6a.=2p=3y

(C) 3a=2p=6y

(D) «, B, y O 7K1, TFaTa 8 AAOHR 897 od @

Which is/are correct for y-ray ?

(A) The velocity of the y-ray is identical with the light.
(B) y-rays are deflected by electric field.

(C) y-rays can ionize a gas to a very large extent.

(D) Electromagnetic radiation of y-ray is of very shorter wave length than a and -rays.
y TR T (PG (P efe A3 7

(A) vy IR TR AR TR AT |

(B) v I (e Ta wrt Rfws =31

(C) v T PTE 2ge ARH RS I3 |

(D) y TR SfEEEIT O (79 o 8 B I (AF S 3 27 |

Which of the followings are derived physical quantities ?

(A) Density (B) Electric charge (C) Electric current (D) Heat
TEA T o7 Torodi 2
(A) g (B) SfSR SIKH (C) ofeR gRR@ (D) o
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MATHEMATICS
Category-1 (Q. 31 to 40)

(Carry 1 mark each. Only one option is correct. Negative marks: — %4)

Consider two triangles AABC and ADEF, where AB = BC = A . Then which is correct ?
DF FE ED

AABCGADEF’{%W&I@WWW&%%E 1;; E}’;ﬁfmwm%ﬂﬁ}?ﬁ?

(A) AABC~ADEF (B) AABC~AEDF (C) AABC~AEFD (D) AABC~ ADFE

The area of a sector of angle 30° of a circle of diameter 14 cm is

77 77 154 154
(A) 3 em? (B) 5 em? (€) 3 em’ (D) —5 cm?
14 T TR 6 30° IR GG JORPR (FIT 27

77 _ ¢ 77 _ ¢ 154 _ . 154 _ .
(A) 5 A (B) g ITCM € 379 D) 57

2 2 : 2

If tan A=§ then cos” A—sin" A=?
™ tan A=§ T, OIR(A cos’ A—sin* A =?

4 5 7 9
A) 13 B) 13 © 13 D) 13

) . . 1 .
If the rate of annual simple interest is 115%, then how much money need to be deposited

to have ¥ 8,906 in total after 4 years ?

T Bl T AR ARS 11%% A R 2, 4 IR 0 A 2 8,906 T ?

(A) 2,806 (B) ¥3,000 (C) 6,000 (D) %6,100
The value of X - x+ x4
X— \/ x°+ 1 x— \/ x°—1
A) 0 (B) 1
(O (D) None of these (AT (A 33 )
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36. A person bought mangoes at the rate of 45 for 10 mangoes. Then he sold them at the rate of

37.

38.

39.

40.

Paper-I1 10 @ O

% 60 for a dozen mangoes. What will be his profit or loss percentage ?
2 2 1 1
(A) profit 16§% (B) loss 16§% (C) profit 115% (D) loss 115%

«aF fe 45 BIFF 10 6 v o = 7@ 2fS Toe 60 S [fer S0, ©RE o) F© Ao
3 =S =@ ?

(A) ?11@16%% (B) Wm%% (C) ?ﬂvné% (D) Wné%

log ,Pxlog ,9xlog ,J=
gp3 gq3 g3

1 1
A 1 (B) 8 © 3 D) 77

Iff(x) =ax?+bx+cand f(0)=3,f(1)=1,3f(2)=5thena:b:c=
M fx) =ax? + bx + ¢ T, GR& £(0) =3, (1) =1, 3f(2) =52, ©R(F a: b: c =

(A) 1:2:3 B) 3:-2:9 (C) 4:-10:9 (D) 4:2:9
If 0.2322, where p, q are integers and q # 0, then P_y
q q

W 0.245 =2 =7, @A p, q PR @R q 0 =T L = 2
q q

245 245 27 27
(A) 1000 (B) 999 © 990 D) 110

A tower stands vertically on the ground and on the same ground there is a house of height
10 m and the distance between the house and the tower is 15 m. If the angle of elevation of
the top of the tower is found to be 45° from the roof of the house, then what is the height of
the tower ?

(A) 10m B) 15m (C) 20m (D) 25m
OB WE 3B Sy BT S ¥ 83«3 W 10 B Srvor s Afs wim e

T ¢ BreARbGa Wy vAg 15 o | 3@ s em (e Sl por SFfs tid 45° 23,
o4 bleyEfb Srvel 7w ¢

(A) 10fB= B) 15fBR (C) 20fBR (D) 25fBR
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MATHEMATICS
Category-2 (Q. 41 to 45)

(Carry 2 marks each. One or more options are correct. No negative marks)

If x* + y* = 18 x2y?, then which of the following is/are correct ?
;W x4 + v = 18 x2y? TF, O (R @R / @wefd b 2
(A) log(x? +y?) =2log 2 + logx + logy (B) log(x* —y?) =2log 2+ logx + logy

1 1
(C) log(x* +y*) =51log20 +logx+logy (D) log(x*—y?) =7 log 20+ logx + logy

tan A
42. If /A+/B=90°, then 1+ 22 _
tan B
M LA+ /B =90° T, wiere 14404 _
tan B
| |
2 2 P — -
(A) sect A (B) sec-B ©) | —siZ A (D) |+ sinZ A

43. The tangents drawn at the extremities of the diameter of a circle are
(A) perpendicular to each other

(B) parallel to each other

(C) equal

(D) the distance between them equal to the diameter of the circle.
G5 U R AR M7 wfFe =il 2= -

(A) T AR AL =77 |

(B) (T AL A NS |

(C) =

(D) OIS WML 7Q JUS WICA AACF A |

bz—cy cx—az

44. If , a, b, ¢ # 0, then their equivalent ratio is / are
b-c c—a
W btz)_cy =782 4, b, ¢ # 0 T, IR O N9t Sirefs/ ofe e
—C c—a
—-b -b
A) T xzy (B) S —p.x#zy (C) xifx=y (D) -yifx=y

45. If0+¢=90°0-¢=30° then sinO+sin =
MO+ ¢ =90°8 0 - ¢ =30°TF, SR sin 0 +sin =
(A) sin©+cosH (B) sin¢+cos ¢ (C) sinB+cos¢ (D) cos©+cosd
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GENERAL KNOWLEDGE
Category-1 (Q. 46 to 55)

(Carry 1 mark each. Only one option is correct. Negative marks: — %4)

India’s first nuclear blast in Pokharan took place in
FO AN TR OO 2 #1719 [T TBIAt =R ¢
(A) 1956 (B) 1947 (©) 1974 (D) 1984

How many players are there on each side in the game of basketball ?
CHFGIA TR A WA T© & I (AT ACF 2
A) 11 B) 5 < 7 D) 9

World War II was fought between

(A) Germany, Italy, Japan against Britain, France, USA, USSR
(B) Austria, Hungary against China, Japan

(C) Australia, Turkey, France against USSR, China, Japan

(D) England against France

fror feemm A = 2@Re

(A) T, S, SR et {e, T, USA, USSR
(B) wICHfer, TiHa [Reeta B, siee

(C) S, ofF, T4 f<e@ USSR, BN, &sie

(D) 3SR et T

The first Indian to receive Nobel Prize in Physics was

(A) S. Chandrasekhar (B) C.V.Raman

(C) 1. V. Narlikar (D) A.P.J. Abdul Kalam
AR TAIEE TSR AN 2T SO Z(AT

(A) @ 5RO B) . fe. 7=

(C) Tw. fo. afewx (D) @ 1. &, Sget Flefs

Who among the following is famous for his pioneering work on anopheles mosquitos
carrying human malaria parasite ?

(A) Ronald Ross (B) Jagadish Chandra Bose

(C) Acharya Prafulla Chandra Roy (D) Albert Sabin

fAafefe e T @ AR AR AR ISR SEieee w1 [ S Fes
&y e 2

(A) TR 3 (B) ol 7% R
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Which country is going to host 2024 Olympic games ?

(A) USA (B) Brazil (C) Russia (D) France
2024 Sel=5F ToIE (1 T 2IfbTeTl F90o bR 2
(A) USA (B) 3Jifere (C) (D) T

Detergent pollutes water because it contains

(A) Carbonate (B) Nitrate (C) Sulphate (D) Phosphate
fEORIET =S e I IR G SR
(A) TR (B) 2GS (C) T (D) TFS

‘India Wins Freedom’ is an autobiography of

(A) Lal Bahadur Shastri (B) A.P.J. Abdul Kalam
(C) Maulana Abul Kalam Azad (D) Jawaharlal Nehru
‘India Wins Freedom’ ¥ W\_ﬁlﬁﬁw aqg ?

(A) 9 AW *1ET (B) . . &, wiget Fler
(C) T Sl Flels SISt (D) TSI (2P

Entomology is the science that studies

(A) Fossils (B) Insects (C) Birds (D) Coins
@ @ R0 oS SR Ie0 = ‘@ oraeter ?
(A) @My (B) o (©) =i (D) @

Coral-reefs in India can be found in

(A) Thiruvananthapuram (B) Rameshwaram
(C) Waltair (D) Sundarban
fafResfa 0 orRres @R o[ A5 Aew [T ?
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GENERAL KNOWLEDGE
Category-2 (Q. 56 to 60)

(Carry 2 marks each. One or more options are correct. No negative marks)

Which of these movies were directed by Mrinal Sen ?

(A) Kolkata 71 (B) Hirak Rajar Deshe
(C) Meghe Dhaka Tara (D) Akaler Sandhane
5 (M baAbsas (@) Jae CIs @it =Afwifers 2

(A) TS Y (B) 7S e e
(C) TEE oI ot (D) SIS AR

Which of these protected areas are in West Bengal ?

(A) Chintamoni Kar Bird Sanctuary (B) Bhitarkanika National Park
(C) Buxa Tiger Reserve (D) Neora Valley National Park
IBCEAICRE RacRte e R RN EACEIEACK

(A) fFoerfaws FFt SexRely (B) fooz=owt o SwH
(C) = B1EeR fawre (D) TRGTeE &er Swji

Which of the followings are main ore of iron ?

(A) Magnesite (B) Magnetite (C) Dolomite (D) Hematite
frferre (el ErRE 4 S 2

(A) ECAIEE (B) eICAGIZE (C) SrANIEH (D) TGIEG

Which of the following cricketers got Major Dhyan Chand Khel Ratna award ?
(A) Sourav Ganguly (B) Rohit Sharma (C) Sachin Tendulkar (D) Kapil Dev

G I (o (e {ibm (4ey %R P10 ?
(A) TIFS aFet  (B) TAIR® *&f (C) haegasas (D) IFAWI

Which countries have common border with India ?

(A) China (B) Afghanistan (C) Myanmar (D) Srilanka
SIS AL NEE T 0 TR S8 TR 2
(A) B (B) Sl (C) TR (D) Tt

Paper-II 14 @
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ENGLISH
Category-1 (Q. 61 to 80)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

Pick out the word that has nearly the same meaning as the word given in bold italics.
We should always emulate successful persons to get success.

(A) compete (B) copy

(C) vie with (D) follow

Choose the word, which is opposite in meaning to ALLURE

(A) Entice (B) Fascinate
(C) Repulse (D) Tempt
L We should not unnecessarily defy the authority of an elected Government.

II.  People in this village deify him for his extensive social service.
Consider the two words in beld italic in the above two sentences and select the correct
option from below.

(A) Only sentence I is correct.

(B) Only sentence Il is correct.

(C) Both sentences I and II are correct.

(D) Neither sentence I nor sentence Il is correct.

Select the word which can replace both the words in bold italics in the two given sentences
keeping their meanings intact.

L. The manager earned a great admiration for his fair dealings.

II.  There was a substantial rise in the value of money with reduced tax rates.
(A) encouragement (B) up

(C) appreciation (D) acclamation

Choose the most appropriate option to fill in the blank to complete the sentence most
meaningfully.

IfI married on Saturday, of course I to the office get together.

(A) won’t get/come (B) am not getting/have come

(C) weren’t getting/would come (D) wouldn’t get/will come

Select the most appropriate pair of words to fill in the blanks in the same order to make the
sentence meaningfully complete.

His speech with subtle threats has resulted in communal tension
in the sensitive areas of the city.

(A) started, poor (B) forced, dissolving

(D) followed, reduced
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Select the most appropriate preposition/word/group of words to fill in the blank to make
the given sentence most meaningfully complete.

The judge acquitted the prisoner the charge of murder.
(A) of (B) with
(C) from (D) about

Choose the most appropriate option to fill in the blank to complete the sentence most
meaningfully.

Some people themselves into believing that they are indispensable to the
organization they work for.
(A) force (B) delude (C) keep (D) ask

Choose the most appropriate filler to complete the given sentence correctly and most
meaningfully.

In order to support his children’s higher education, the father .
(A) joined college (B) took up a second job

(C) decided to take a vacation (D) frequented free hostels

Choose the option, which can best replace the given group of words.

One who pretends illness to escape duty.

(A) Truant (B) Malingerer (C) Sick (D) Hypocrite
Select that word which needs to be removed from the given sentence to make it

grammatically correct.
I have decided a week ago to quit my job.
(A) have (B) to (C) a (D) with

A sentence is given in active (passive) voice. Select the alternative which best expresses
the sentence in passive (active) voice.

People claim to have seen the suspect at several places.

(A) The suspect is claimed to have been seen by people at several places.
(B) The suspect was seen by people at several places.

(C) People have been the suspect at several places.

(D) The suspect is being seen at several places.

Select the option with correct spelling.
(A) Lauriate (B) Laureat (C) Laureate (D) Lauriat
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A sentence is given in direct (indirect) speech. Select the alternative which best expresses
the sentence in indirect (direct) speech.

The traveller enquired of the farmer if he could tell him the way to the nearest hotel.

(A) The traveller said to the farmer, “Where is the nearest hotel ?”

(B) The traveller said to the farmer, “Which is the way to the nearest hotel ?”

(C) The traveller said to the farmer, “Can you tell me the way to the nearest hotel ?”

(D) The traveller said to the farmer, “Can you tell me where is the nearest hotel ?”

Identify the erroneous part of the sentence.
(A) Since his father was getting old (B) the son began to get worried
(C) as he had not learned any trade (D) to make a living on himself.

A sentence is given in active (passive) voice. Select the alternative which best expresses
the sentence in passive (active) voice.

I was kept awake by the noise of the traffic.

(A) The noise of the traffic kept me awake. (B) I was awake due to traffic noise.

(C) Traffic noise kept me awake. (D) Icould not sleep due to traffic noise.

Select the sentence which is grammatically wrong :
(A) The dacoits robbed my belongings.

(B) The last two pages of this book are torn.

(C) He came to us every third day.

(D) He atoned for his sin by visiting temples.

A sentence is broken in several parts. The parts P, Q, R and S are shuffled. Select the
correct option below to arrange these parts so as to form a complete and most meaningful
sentence.

(1)  When he reached his office

(P) to get home early

(Q) he phoned his mother

(R) that he wouldn’t be able

(S) to tell her

(6) as he had promised.

(A) QSRP (B) QPRS (C) PRSQ (D) SQPR
Choose the word, which has nearly the same meaning as LOQUACIOUS.

(A) Victorian (B) Bombastic

(C) Verbose (D) Ambiguous

Select the word which can replace both the words in bold italics in the two given sentences
keeping their meanings intact.

L. The waiter pulled a chair towards the table.

II.  The lawyer wrote up an agreement between the two parties.

(A) made (B) drew
(C) arranged (D) dragged

Paper-II 17 @ O



81.

82.

83.

84.

8s.

Paper-I1 18 @ O

JENPAS(UG)-2023

LOGICAL REASONING
Category-1 (Q. 81 to 100)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

In a certain language, POPULAR is coded as QPQVMBS, which word would be coded as
GBNPVT ?

(A) FAMOSE (B) FAMOUS
(C) FAMOTH (D) HCOQWU

If BAG = 10, HIT = 32, then CAT = ?
(A) 27 (B) 47
©) 19 (D) 23

In a certain code language

(D ‘pic vic nic’ means ‘Winter is cold’

(IT) ~ ‘to nic re’ means ‘Summer is hot’

(IH)  ‘re pic boo’ means ‘Winter and Summer’

(IV) “vic tho pa’ means ‘Nights are cold’

Which word in the language means ‘Summer’ ?

(A) re (B) nic
(C) to (D) boo

Pointing to a photograph, a man said

“I have no brother or sister, but that man’s father is my father’s son.”
Whose photograph, was it ?

(A) Hisown (B) His father’s
(C) His nephew’s (D) Hisson’s

‘P # Q’ means ‘P is father of Q’;

‘P + Q’ means ‘P is mother of Q’;

‘P - Q” means ‘P is brother of Q’;
IfA+B#C-D,thenAis D’s—

(A) father (B) mother

(C) sister (D) grandmother
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A, P, R, X, S and Z are sitting in a row. S and Z are in the centre, and A and P are at the
ends. R is sitting on the left of A. Then who is sitting on the right of P ?

A) A B) Z
© X (D) R

Manik walked 40 metres towards north, took a left turn walked 20 metres. He again took a
left turn and walked 40 metres. How far and in which direction is he from the starting
point ?

(A) 20 metres east (B) 20 metres west

(C) 40 metres south (D) 100 metres south

How many meaningful words can be formed using the first, the third, the fifth and the sixth
letters of the word TRADEMARK using each letter only once in each word ?

(A) One (B) Two
(C) Three (D) Four

RESDAPS3TIQ79B#2K%U1IMW4*]J8N

How many such numbers are there in the above arrangement, each of which is immediately
preceded by a letter and not immediately followed by a letter ?

(A) None (B) One
(C) Two (D) More than two
If ‘“+’ means °xX’, ‘x’means ‘-’, ‘*> means ‘+’, and ‘-’ means ‘+’, then which of the

following gives the result of

175-25+5+20%x3+107?

(A) 77 (B) 159
(C) 240 (D) 2370

Find the missing number from the given alternatives:

8 7 7
6 8 10
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92. Statements : Some flowers are rods. Some rods are doors. Some doors are houses.

Conclusion : (I) Some houses are flowers.
(I)  Some doors are flowers.
(IT) Some flowers are doors.
(IV) No house is flower.
Find the appropriate answer.
(A) Only either (I) or (II) follows. (B) Only either (I) or (IV) follows.
(C) Only (II) and (IIT) follows. (D) Only (I) and (IV) follows.

93. Find out the (?) figure of the given series.

R v
SC&J

(A) <&)“ (B) 7N ©) Q (D) ( \‘2

N_ -

94. Count the number of squares in the following figure:

(A) 13 (B) 9 (C) 14 (D) 10

95. Choose the correct mirror image of the given figure :

(A) (B) © / (D) /‘

Paper-I1 20 @ O




96.

97.

98.

99.

100.

JENPAS(UG)-2023
Select a figure amongst the four alternatives, which complete the given figure.

LN
(A) B (B) EIA (©) EIA (D) %L

Observe the dots on a dice (one to six dots) in the following figures :

How many dots are contained on the face opposite to that containing four dots ?
A) 3 B) 2 © o6 D) 5

In the following order series, some of the letters are missing which are given in that order

as one of the alternatives below it. Choose the correct alternative:
__bc_b dac abd bc.

(A) bcdab (B) adcda

(C) cdabb (D) abcdd

Choose the correct alternative :

Mango : Fruit : : Potato: ?

(A) Root (B) Fruit
(C) Stem (D) Flower
Find the common characteristic among the given words :

Hamlet : Macbeth : Faustus

(A) They are Kings.

(B) They are plays by Shakespeare.

(C) They are famous characters from various dramas.

(D) They are all thieves.
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